M/ BEGT/MNOT)[RBAT—42

t#8:20F25% HiZ:136E04%

ER25%10A 1H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 28.2 0.0 = 58 Fokk 80 1004.5
2 28.0 0.0 = 52 ok 78 1004.1
3 28.0 0.0 = 50 Tk 80 10041
4 279 0.0 = 52 Fokk 82 1004.1
5 279 0.0 = 54 Fokk 82 10041
6 279 0.0 = 59 ok 81 1004.7
7 285 0.0 HitE 65 Fokk 79 1005.1
8 29.1 0.0 = 6.7 kK 77 1005.4
9 295 0.0 6.2 Fokk 73 1005.7
10 29.9 0.0 mit® 70 Fokk 74 1005.6
11 298 0.0 HitE 71 Fokk 75 1005.3
12 30.3 0.0 = 6.6 Tk 73 1004.7
13 30.7 0.0 = 72 Fokk 72 10041
14 30.3 0.0 mit® 75 Tk 75 10035
15 293 0.0 = 74 Fokk 79 10032
16 26.6 6.5 = 6.1 Fohk 94 10035
17 272 0.5 = 75 Fokk 93 1003.6
18 279 0.0 S 71 Tk 88 1004.2
19 25.7 10 B 75 Fokk 91 1005.3
20 26.5 0.5 S 39 Fokk 90 1005.6
21 273 0.0 = 43 Fokk 91 1005.6
22 279 0.0 E 44 ok 92 1005.0
23 28.4 0.0 = 6.3 Fokk 88 1004.5
24 28.7 0.0 EXE 6.4 Fokk 86 1004.4
H:xX 30.7 6.5 15 94 1005.7
_ B&m/ 25.7 0.0 3.9 72 1003.2
H¥EH 28.4 6.2 82 1004.6
HE&E 85 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 2H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 28.7 0.0 RER 6.1 Fokk 86 1003.8
2 2738 0.0 EXE 6.9 ok 84 10035
3 28.7 0.0 SEED 74 Fokk 86 1003.3
4 289 0.0 ek 8.1 kK 83 1003.2
5 289 0.0 R 8.7 Fokk 83 1003.3
6 29.0 0.0 ik 8.1 Fokk 84 1003.9
7 29.2 0.0 B 95 Fokk 83 1004.4
8 295 0.0 ElE 8.6 Fokk 81 1005.0
9 29.7 0.0 b 8.7 Fokk 80 1005.0
10 30.3 0.0 EEd 94 Fokk 78 1005.0
11 30.2 0.0 B 98 Fokk 79 1004.5
12 287 0.0 Sk 71 Fokk 86 1003.6
13 293 0.0 G 79 Fokk 80 10033
14 29.2 0.0 ek 58 Fokk 83 1003.2
15 289 0.0 B 98 Fokk 71 1003.0
16 29.0 0.0 Gl 6.3 Tk 84 1002.9
17 29.2 0.0 B 54 Fokk 84 1003.8
18 293 0.0 ek 70 Fokk 81 1004.4
19 29.2 0.0 B 70 Fokk 82 1005.0
20 29.0 0.0 Gl 8.9 Fohk 81 1005.4
21 289 0.0 B 8.9 Fokk 85 1005.3
22 29.1 0.0 G 94 Fokk 84 1004.8
23 29.1 0.0 B 109 Fokk 85 1005.0
24 29.1 0.0 ek 10.4 Fokk 82 1004.7
HzxX 30.3 0.0 10.9 86 1005.4
_ B&m/ 2738 0.0 54 71 1002.9
H¥EH 29.1 8.2 82 10041
HE: 0.0 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 3H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 289 0.0 S 97 ook 84 1003.8
2 2838 0.0 Sk 8.8 ok 85 1003.3
3 288 0.0 B R 99 Tk 84 1003.0
4 2838 0.0 531 8.9 Fokk 84 1002.6
5 289 0.0 B R 8.9 Fokk 82 10032
6 29.0 0.0 ElE 77 ok 84 1004.7
7 29.2 0.0 G 75 Fokk 85 1005.3
8 29.6 0.0 EEd 94 kK 82 1005.9
9 2738 45 SED 65 Fokk 93 1006.0
10 283 0.5 ek 59 Fokk 89 1005.6
11 295 0.0 EEEd 99 Fokk 84 1004.4
12 29.6 0.0 Ik 8.4 Fokk 85 1003.6
13 30.0 0.0 5] 70 Fokk 81 1002.9
14 29.6 0.0 3] 9.7 Fokk 80 1002.3
15 298 0.0 5] 6.8 Fokk 80 1002.4
16 29.6 0.0 ek 74 Tk 80 1002.9
17 293 0.0 B 95 Fokk 84 1002.9
18 29.1 0.0 Gl 8.7 Fokk 86 10035
19 275 2.0 S 6.3 Fokk 89 1003.9
20 276 15 ek 8.0 Fohk 85 1004.1
21 286 0.0 B 8.2 Fokk 86 1005.0
22 289 0.0 G 10.9 Fokk 87 1005.1
23 286 0.5 B 103 Fokk 86 1004.5
24 288 0.0 ek 95 Fokk 83 1003.9
H&X 30.0 45 10.9 93 1006.0
_ B&m/ 275 0.0 59 80 1002.3
H¥EH 289 85 85 1004.0
HE&E 9.0 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 4H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 29.0 0.0 S 85 ook 81 10035
2 2838 0.0 EEd 85 kK 83 10035
3 287 0.0 SED 99 Fokk 82 1002.6
4 287 0.0 ElE 9.0 kK 83 1002.1
5 287 0.0 b 8.1 Fokk 85 1002.6
6 2838 0.0 ElE 7.9 Tk 82 1003.0
7 29.2 0.0 EEEd 8.2 Fokk 78 10033
8 295 0.0 Ik 8.8 Fokk 81 1003.8
9 29.1 0.0 ] 6.8 Fokk 81 1004.4
10 29.2 0.0 ek 6.8 Fokk 81 1004.2
11 30.0 0.0 B 90 Fokk 79 1003.6
12 30.3 0.0 Gl 8.2 Fokk 77 10035
13 30.0 0.0 B 8.0 Fokk 75 1003.0
14 30.2 0.0 Gl 9.0 Fokk 76 1002.0
15 30.2 0.0 B 77 Fokk 78 1002.1
16 29.9 0.0 Gl 77 Tk 78 1002.3
17 29.2 0.0 BER 85 Fokk 82 1002.6
18 29.1 0.0 EXE 8.1 Fokk 82 1003.0
19 286 0.0 E 90 Fokk 86 10035
20 288 0.0 EXE 98 Fohk 84 1004.4
21 272 0.5 B 92 Fokk 87 1004.7
22 2738 9.0 EXE 96 Fokk 92 1004.4
23 286 0.0 EE 8.8 Fokk 80 1004.5
24 28.6 0.0 EXE 8.6 Fokk 80 1004.1
HmxX 30.3 9.0 9.9 92 1004.7
_ B&m/ 272 0.0 6.8 75 1002.0
H¥EH 29.1 85 81 1003.4
HE&E 95 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 5H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 285 0.0 RER 8.2 Fokk 79 1003.8
2 28.4 0.0 EXE 74 ok 82 10035
3 285 0.0 HEE 8.0 Tk 83 1003.0
4 283 0.0 EXE 92 Fokk 84 1003.2
5 282 0.0 = 91 Fokk 81 1003.8
6 28.1 0.0 = 73 ok 83 1004.1
7 287 0.0 = 8.3 Fokk 77 1004.4
8 2838 0.0 = 8.9 kK 75 1004.7
9 29.2 0.0 = 94 Fokk 70 1005.1
10 295 0.0 = 8.3 Fokk 72 1005.3
11 29.7 0.0 = 8.4 Fokk 68 1004.8
12 30.0 0.0 = 8.2 Tk 67 1004.1
13 30.3 0.0 = 76 Fokk 71 10032
14 305 0.0 6.9 Tk 68 1002.6
15 30.3 0.0 b= 75 Fokk 69 1002.6
16 29.8 0.0 it 8.0 Fohk 72 1003.0
17 296 0.0 HitE 8.4 Fokk 71 1003.3
18 28.9 0.0 b= 7.8 Tk 76 1003.2
19 288 0.0 =it 77 Fokk 77 10032
20 287 0.0 &= 73 Fokk 77 1003.2
21 28.7 0.0 b= 76 Fokk 80 10032
22 28.4 0.0 Jt&= 96 ok 80 1002.4
23 285 0.0 Jtit 10.2 Fokk 82 1002.3
24 285 0.0 Jtit 1.7 Fokk 80 1001.7
H:xX 30.5 0.0 11.7 84 1005.3
_ B&m/ 28.1 0.0 6.9 67 1001.7
H¥EH 29.0 8.4 76 10035
HE&E 0.0 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 6H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 28.6 0.0 it 93 kK 81 1000.3
2 28.4 0.0 B[ 13.2 Tk 82 999.4
3 27.0 3.5 Jedt# 12.2 kkok 94 997.7
4 25.9 25 P& 17.4 Fokk 95 996.5
5 26.7 2.5 Jedt# 16.4 kkok 91 995.0
6 253 75 B[ 15.9 Fokk 97 993.7
7 275 2.0 Jtit7E 212 Tk 92 9919
8 26.8 0.5 B[ 219 Fokk 90 990.2
9 274 0.0 75 195 Fokk 87 989.6
10 273 0.0 TR 7E 14.8 Fokk 87 991.0
11 276 0.0 il 12.9 Tk 85 992.6
12 28.1 0.0 FERI 78 1.2 ok 82 9941
13 28.1 0.0 i 174 Fokk 83 9956
14 277 0.0 oIk 18.2 ok 86 996.5
15 273 0.5 ] 147 Tk 89 997.7
16 283 0.0 Ik 14.2 kK 84 999.1
17 287 0.0 ] 146 Fokk 79 9998
18 2838 0.0 53] 114 Tk 82 10011
19 29.0 0.0 5] 1.0 Fokk 80 1002.7
20 289 0.0 531 94 ok 81 1003.8
21 288 0.0 e 106 Tk 77 1004.4
22 287 0.0 ek 8.1 Fokk 80 1004.7
23 286 0.0 G 8.0 Fokk 82 1004.8
24 287 0.0 EEd 98 Tk 84 1004.7
HE& X 29.0 75 219 97 1004.8
_ B&m/ 253 0.0 8.0 77 989.6
HE 2738 13.9 85 9978
HE%E 19.0 ok
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t#8:20F25% HiZ:136E04%

ER25%10A 7H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 285 0.0 B 100 ook 84 1004.5
2 285 0.0 G 10.0 Fokk 82 1004.5
3 286 0.0 SED 93 kK 82 1004.5
4 282 0.0 EXE 7.9 Fokk 86 1004.7
5 282 0.0 R E 78 Tk 85 1005.1
6 282 0.0 EXE 6.7 kK 85 1005.7
7 288 0.0 EE 8.1 Fokk 80 1006.5
8 289 0.0 EXE 6.7 kK 81 1006.5
9 293 0.0 HEE 6.6 Tk 78 1007.1
10 295 0.0 = 6.7 Fokk 78 1007.1
11 29.9 0.0 = 6.4 Fokk 79 1006.8
12 29.2 0.0 EXE 9.0 ok 79 1006.5
13 277 0.5 BER 65 Fokk 86 1005.9
14 283 0.0 EXE 6.4 Fokk 83 1005.9
15 273 0.5 = 44 Fokk 88 1005.9
16 247 85 EXE 6.3 Fokk 97 1006.8
17 258 195 = 55 Fokk 98 1006.9
18 246 15.0 EXE 77 Fokk 98 1007.8
19 24.4 10.0 = 47 Fokk 98 1008.7
20 26.0 10 EAE 34 Fokk 98 1008.3
21 26.4 0.0 B 6.3 Fokk 96 1008.3
22 26.5 0.0 S 32 ok 90 1008.1
23 26.8 0.0 = 6.2 Fokk 90 1007.4
24 271 0.0 S 4.1 ok 88 1007.4
H&X 29.9 19.5 10.0 98 1008.7
_ B&m/ 24.4 0.0 32 78 1004.5
H¥15 27.6 6.7 87 1006.5
HE: 55.0 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 8H - -
2 g= e ) AE | ARRE | mE SE
e °C mm 16541 m./’s h % hPa
1 275 0.0 HitE 55 Fokk 87 1007.1
2 276 0.0 mit® 7.7 ok 86 1006.5
3 28.0 0.0 HitE 8.0 ook 84 1006.5
4 28.0 0.0 Hit® 96 Fokk 82 1006.5
5 28.1 0.0 HitE 10.6 Fokk 82 1006.3
6 28.1 0.0 Hit® 105 Fokk 81 1006.5
7 285 0.0 1.0 Fokk 80 1007.1
8 287 0.0 mit® 1.3 Tk 77 1007.7
9 289 0.0 HitE 10.8 Fokk 75 1008.0
10 293 0.0 Hit® 10.3 ok 76 1007.8
11 295 0.0 = 96 Fokk 75 1007.4
12 29.3 0.0 = 7.9 Fokk 77 1006.5
13 29.7 0.0 = 85 Fokk 76 1005.7
14 29.6 0.0 = 9.0 Tk 77 1005.3
15 29.7 0.0 = 10.4 Fokk 75 1005.1
16 29.1 0.0 = 10.2 kK 80 1005.3
17 287 0.0 = 105 Fokk 79 1005.9
18 28.4 0.0 E 10.0 Fokk 81 1006.3
19 286 0.0 = 101 Fokk 80 1007.2
20 28.4 0.0 mit® 1.2 Fokk 80 1007.7
21 285 0.0 = 103 Fokk 80 1008.0
22 2738 0.0 = 11.0 Fokk 81 1008.0
23 283 0.0 = 109 Fokk 79 1007.7
24 283 0.0 E 10.1 Fokk 80 1007.7
HE&X 29.7 0.0 1.3 87 1008.0
=R 275 0.0 55 75 1005.1
H¥EH 286 98 80 1006.8
HE%: 0.0 Fdok
EEEEAT—4
o |[EEEHAH] T e |EEERA]  C
%= KR 11365 36.1 REXE TH20217 17.7
o e | R H hPa = e S H hPa
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t#8:20F25% HiZ:136E04%

ER25%10A 9H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 283 0.0 = 10.4 ok 78 1007.7
2 28.1 0.0 = 98 kK 80 1007.1
3 28.0 0.0 = 85 ook 80 1006.9
4 28.0 0.0 £ 8.0 Tk 81 1006.9
5 279 0.0 8.7 Fokk 81 1006.5
6 279 0.0 it 95 Fokk 82 1006.8
7 283 0.0 b= 10.1 Fokk 77 10075
8 286 0.0 = 8.7 Fokk 77 1008.3
9 287 0.0 = 8.9 Fokk 79 1008.6
10 29.3 0.0 = 8.4 Fokk 76 1008.4
11 29.4 0.0 = 8.7 Tk 75 1008.1
12 29.7 0.0 = 8.0 Fokk 76 1007.5
13 29.4 0.0 = 95 Fokk 73 1007.2
14 29.6 0.0 = 8.2 Tk 74 1006.9
15 30.0 0.0 = 78 Fokk 76 1006.8
16 29.4 0.0 = 8.2 kK 76 1006.9
17 287 0.0 = 93 Fokk 78 1007.4
18 28.4 0.0 = 9.0 Fohk 82 1008.0
19 283 0.0 = 98 Fokk 81 1008.3
20 28.4 0.0 S 93 Tk 83 1008.9
21 28.4 0.0 = 100 Fokk 79 1009.0
22 283 0.0 = 94 ok 81 1008.9
23 282 0.0 = 9.7 Fokk 79 1009.0
24 282 0.0 S 92 ok 81 1008.6
HzxX 30.0 0.0 10.4 83 1009.0
_ B&m/ 279 0.0 78 73 1006.5
H¥EH 286 9.0 79 1007.8
HE&E 0.0 Fkok
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t#8:20F25% HiZ:136E04%

FR25610A 108 -
2 g= e ) AE | ARRE | mE SE
e °C mm 16541 m./’s h % hPa
1 28.1 0.0 HitE 10.1 ook 80 1008.0
2 28.1 0.0 Hit® 10.6 Tk 80 1007.7
3 28.1 0.0 HitE 115 Fokk 81 1007.7
4 27.0 0.0 £ 76 kK 91 1007.5
5 28.1 0.0 = 109 Tk 81 1007.8
6 28.1 0.0 = 10.4 Fokk 81 1008.1
7 283 0.0 = 106 Fokk 80 1008.4
8 286 0.0 mit® 10.7 Tk 79 1008.4
9 29.0 0.0 = 111 Fokk 76 1008.6
10 29.1 0.0 = 11.6 Tk 74 1008.9
11 288 0.0 = 101 Tk 76 1008.3
12 289 0.0 = 8.9 Tk 77 1008.0
13 286 0.0 HitE 10.2 Tk 80 1007.1
14 29.3 0.0 85 ok 72 1006.6
15 29.0 0.0 it 9.0 Fokk 76 1006.8
16 286 0.0 it 9.2 kK 76 1006.8
17 283 0.0 it 10.0 Fokk 78 1007.1
18 282 0.0 it 10.7 Fokk 79 1006.8
19 28.1 0.0 it 98 Fokk 79 1007.7
20 28.0 0.0 it 10.0 kK 79 1008.3
21 28.0 0.0 it 10.7 Fokk 81 1008.3
22 28.0 0.0 it 105 kK 80 1008.0
23 28.0 0.0 it 112 Fokk 80 1007.4
24 28.0 0.0 it 1.3 Fokk 78 1007.1
HE& X 293 0.0 1.6 91 1008.9
_As/ 27.0 0.0 76 72 1006.6
EEZ5] 283 10.2 79 1007.7
HE%E 0.0 ok
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t#8:20F25% HiZ:136E04%

ER25%F10A1 11H - -
2 g= e ) AE | ARRE | mE SE
e °C mm 16541 m./’s h % hPa
1 279 0.0 HitE 1.6 ook 82 1006.8
2 2738 0.0 Hit® 10.9 Tk 80 1006.0
3 277 0.0 HitE 121 Fokk 80 1005.6
4 2738 0.0 Hit® 1.7 kK 78 1006.2
5 275 0.0 HitE 121 Fokk 76 1005.6
6 2738 0.0 mit® 12.7 Fokk 81 1005.6
7 282 0.0 HitE 12.3 Fokk 81 1005.9
8 28.4 0.0 Hit® 12.2 Fokk 79 1005.9
9 289 0.0 HitE 125 Fokk 77 1006.0
10 29.4 0.0 Hit® 12.4 Tk 77 1005.9
11 283 0.5 HitE 125 Tk 81 1004.7
12 29.4 0.0 Hit® 12.2 kK 80 1003.8
13 29.1 0.0 HitE 13.6 Tk 80 10032
14 2838 0.0 Hit® 13.3 Fokk 80 1002.6
15 29.2 0.0 HitE 135 Tk 80 1002.6
16 289 0.0 Hit® 13.9 kK 82 1002.3
17 285 0.0 HitE 13.6 Fokk 84 1002.4
18 283 0.0 Hit® 14.2 kK 84 1002.6
19 28.4 0.0 HitE 14.6 Fokk 86 1002.9
20 28.4 0.0 Hit® 14.3 kK 85 1003.0
21 28.4 0.0 HitE 141 Fokk 86 10032
22 28.4 0.0 Hit® 14.2 Fokk 85 1002.7
23 28.4 0.0 HitE 14.6 Tk 85 1002.4
24 28.1 0.0 b= 13.7 ok 87 1002.0
HE&X 29.4 0.5 14.6 87 1006.8
=R 275 0.0 10.9 76 1002.0
HEH 28.4 13.0 82 1004.2
HEE 05 Fdok
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t#8:20F25% HiZ:136E04%

F 25104 128 -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 28.4 0.0 b= 13.1 Fokk 86 1001.2
2 283 0.0 mit® 14.8 Tk 85 10011
3 279 0.0 b= 14.4 ook 87 1000.3
4 273 0.0 it&= 146 kK 89 1000.0
5 28.1 0.0 b= 14.2 Fokk 86 10005
6 282 0.0 b= 147 Fokk 84 1000.5
7 282 0.0 mitE 147 Fokk 86 10011
8 285 0.0 b= 146 Fokk 84 10011
9 282 0.0 b= 15.1 Fokk 85 1000.9
10 282 0.0 b= 15.4 Fokk 84 10011
11 28.0 0.0 b= 14.6 Fokk 85 1000.0
12 283 05 Jt= 15.9 kK 83 998.9
13 28.4 0.0 b= 15.3 Tk 84 998.0
14 28.4 0.0 Jt= 15.1 Fokk 84 997.4
15 282 0.0 b= 16.8 Fokk 84 9971
16 28.4 0.0 Jt= 16.1 kK 84 996.8
17 283 0.0 b= 17.7 Fokk 85 9973
18 282 0.0 b= 155 kK 85 997.1
19 274 0.5 b= 16.6 Fokk 88 997.4
20 271 05 b= 16.1 kK 89 997.4
21 279 0.0 b= 15.4 Fokk 86 9971
22 282 0.0 Jt= 16.8 Tk 84 996.5
23 28.4 0.0 Jt= 181 Fokk 84 996.2
24 28.4 0.0 b= 178 Fokk 84 996.2
H&X 28.5 0.5 18.1 89 1001.2
_ B&m/ 271 0.0 13.1 83 996.2
HEH 28.1 15.6 85 9988
HE: 15 ok
EEEEAT—4
o |EEEHAH] T e |EEERA]  C
%= XR 11365 36.1 REXE TH20217 17.7
o e | R H hPa = e S H hPa
= AT Hsfﬁs.flz 10245 RIESE H1$9J.E]2 930.1
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t#8:20F25% HiZ:136E04%

F 25104 136 -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 28.3 0.0 b= 17.2 ook 83 9953
2 28.4 0.0 b= 181 Fokk 83 9938
3 275 0.0 b= 18.0 Tk 84 993.4
4 279 0.0 it&= 18.0 kK 85 992.6
5 28.1 0.0 b= 19.0 Tk 85 9925
6 285 0.0 b= 21.0 ok 80 992.0
7 272 15 b= 20.4 Tk 85 9923
8 276 0.0 b= 20.4 Fokk 82 992.0
9 282 0.0 b= 224 Tk 82 9911
10 282 0.0 b= 21.8 Fokk 82 989.9
11 272 0.0 b= 220 Fokk 90 9881
12 255 2.0 Jt= 25.9 kK 97 986.5
13 26.6 25 b= 25.7 Fokk 94 9841
14 26.4 0.0 Jt= 24.9 kK 94 982.4
15 25.7 15 b= 29.9 Fokk 97 9805
16 25.9 0.5 JtitE 31.7 Fokk 92 978.4
17 25.3 40 Jtit=E 33.6 *okok 97 975.1
18 25.1 95 JtitEs 371 Fokk 97 971.0
19 25.1 125 JtitE= 383 Fokk 97 968.6
20 25.4 16.0 b= 36.6 Fokk 98 965.8
21 25.2 19.0 b= 379 Fokk 98 962.2
22 25.7 235 Jt= 35.3 Fokk 98 957.4
23 26.7 55 it 288 Fokk 94 950.8
24 26.1 0.5 =it 35.7 Fokk 95 940.1
H&X 28.5 235 38.3 98 995.3
_ B&m/ 25.1 0.0 17.2 80 940.1
HE 26.7 26.7 90 9798
HE: 985 ok
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t#8:20F25% HiZ:136E04%

T 25104 14H -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 27.0 215 = 223 ook 98 919.4
2 26.2 1.0 ik 36.3 Tk 97 9185
3 26.2 135 ] 46.0 ook 98 9348
4 26.6 0.0 Ik 315 kK 96 946.2
5 25.9 0.5 i 29.7 Fokk 97 953.6
6 26.0 0.5 ki 30.7 Fokk 97 962.3
7 25.4 0.5 ki 36.5 Fokk 98 969.4
8 25.8 0.0 el 334 Fokk 96 9755
9 26.9 0.5 k] 30.6 Fokk 90 979.4
10 272 0.0 ki 306 Fokk 87 982.0
11 25.9 0.0 ki 28.3 Fokk 92 9841
12 26.2 0.0 ek 208 kK 92 985.7
13 274 0.0 e 225 Tk 85 987.4
14 273 0.0 ki 247 Fokk 86 988.4
15 277 0.0 e 20.2 Fokk 85 9893
16 2738 0.0 ki 20.0 kK 84 9911
17 2738 0.0 ki 191 Fokk 84 9922
18 275 0.0 ki 155 kK 85 993.8
19 274 0.0 ki 16.9 Fokk 86 9958
20 271 0.0 ki 15.2 kK 88 996.7
21 26.9 0.0 e 16.0 Fokk 87 997.7
22 275 0.0 Ik 15.4 ok 87 998.9
23 276 0.0 i 148 Fokk 86 999.4
24 276 0.0 ki 14.7 ok 87 999.8
H&X 27.8 215 46.0 98 999.8
_ B&m/ 25.4 0.0 14.7 84 9185
H¥EH 26.9 247 90 976.7
HE: 38.0 Fkok
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t#8:20F25% HiZ:136E04%

FR25610A15H -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 275 0.0 ki 149 ook 88 9995
2 273 0.0 ki 145 Fokk 88 999.7
3 271 0.0 ] 133 Tk 89 1000.0
4 271 0.0 ki 13.3 kK 88 1000.5
5 27.0 0.0 ] 15 Tk 88 1001.7
6 26.8 0.0 el 10.8 ok 90 1002.3
7 26.9 0.0 ki 12.0 Tk 87 10032
8 272 0.0 el 99 Fokk 86 1004.2
9 271 0.0 IR G 8.9 Tk 87 1005.1
10 274 0.0 Ik 94 Fokk 86 1005.1
11 275 0.0 ] 9.0 Fokk 86 1004.5
12 283 0.0 et 8.0 kK 84 1004.1
13 275 0.0 S 8.7 Tk 87 1003.9
14 272 0.0 Ik 6.8 kK 88 1004.1
15 277 0.0 i 74 Fokk 87 1004.5
16 274 0.0 ki 6.6 kK 89 1004.7
17 271 0.0 e 6.4 Tk 89 1005.3
18 26.6 0.0 ki 58 Fokk 92 1006.0
19 26.3 0.0 w7 45 Fokk 92 1006.5
20 26.4 0.0 ki 4.4 Fokk 93 1007.1
21 26.6 0.0 FEEI 7 53 Fokk 91 10075
22 26.4 0.0 78 42 Fokk 93 1007.7
23 26.4 0.0 FERI 7 45 Fokk 93 1007.7
24 26.3 0.0 AR 78 4.6 Fokk 91 1007.7
H&X 28.3 0.0 14.9 93 1007.7
_ B&m/ 26.3 0.0 42 84 9995
HEH 27.0 85 89 1004.3
HE&%: 0.0 Fdok
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t#8:20F25% HiZ:136E04%

FR25610A 168 -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.2 0.0 o 7 43 Fokk 93 1007.5
2 26.1 0.0 75 32 ok 94 1007.2
3 25.8 0.0 e 15 Tk 94 1007.2
4 25.9 0.0 75 12 Fokk 94 1007.4
5 26.3 0.0 LT 31 kK 92 1008.0
6 26.2 0.0 1t 34 Fokk 92 1008.3
7 272 0.0 17 2.4 Fokk 91 1009.2
8 28.0 0.0 1t 25 kK 85 1009.9
9 29.2 0.0 Jedt /s 2.6 *kkok 76 1010.4
10 29.7 0.0 [ 3.0 Fokk 77 1010.2
11 32.9 0.0 || i) 3.5 *kkok 67 1009.8
12 316 0.0 [ 44 ok 70 1009.3
13 30.9 0.0 JtitFE 55 Fokk 69 1008.9
14 29.2 0.0 it 4.7 Fokk 75 1008.7
15 282 0.0 it 6.1 Fokk 78 1008.6
16 274 0.0 it 6.6 Fokk 83 1008.6
17 26.2 0.0 Jtit= 70 Fokk 87 1009.2
18 26.0 0.0 Jbdb = 7.2 Fokk 88 1009.9
19 26.0 0.0 JtitE= 8.8 Fokk 86 1010.4
20 25.9 0.0 Jbdb = 8.1 Fokk 86 1011.0
21 25.9 0.0 b= 8.8 Fokk 83 1011.3
22 258 0.0 dtm= 8.3 ok 85 1011.4
23 258 0.0 b= 78 Fokk 85 1011.9
24 25.7 0.0 b= 7.9 ok 84 1011.4
H&X 32.9 0.0 8.8 94 1011.9
_ B&m/ 25.7 0.0 1.2 67 1007.2
HE 274 51 84 1009.4
HE: 0.0 Fdok
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t#8:20F25% HiZ:136E04%

FR25610A17H -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 25.6 0.0 Jtit= 7.7 Fokk 86 1011.0
2 255 0.0 Jbib = 7.9 ok 86 1010.4
3 255 0.0 Jtde R 8.2 Fokok 86 1009.9
4 255 0.0 Jbib = 8.9 Fokk 85 1010.1
5 25.4 0.0 JtitE 8.9 *okok 85 1010.4
6 255 0.0 Jbib = 10.0 Fokk 84 1011.0
7 25.6 0.0 Jtit=E 9.9 *okok 83 1011.4
8 25.7 0.0 b= 8.3 Fokk 82 1012.2
9 26.0 0.0 b= 8.6 Fokk 80 1012.8
10 26.1 0.0 b= 95 Fokk 81 10125
11 26.1 0.0 b= 8.9 Fokk 81 1012.2
12 26.0 0.0 it@= 8.4 Fokk 83 1011.3
13 26.2 0.0 b= 8.1 Fokk 80 1010.8
14 26.1 0.0 it&= 8.1 ok 82 1010.1
15 26.1 0.0 Jt= 7.9 Fokk 83 1010.2
16 26.0 0.0 it&= 10.4 Fokk 85 1009.3
17 25.1 0.0 b= 12.4 Fokk 88 1009.2
18 25.9 0.0 itm= 115 Tk 86 1010.1
19 258 0.0 b= 1.6 Fokk 87 1009.6
20 26.0 0.0 it@= 11.2 Fokk 87 1010.2
21 26.1 0.0 b= 10.0 Fokk 87 10105
22 26.0 0.0 mit® 1.0 Fokk 88 1010.4
23 25.9 0.0 HitE 11.0 Fokk 88 1010.1
24 25.9 0.0 Hit® 10.9 Fohk 89 1009.9
H&X 26.2 0.0 12.4 89 1012.8
_ B&m/ 25.1 0.0 7.7 80 1009.2
EEZ] 258 96 85 1010.7
HEE 0.0 Fdok
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t#8:20F25% HiZ:136E04%

T 25104 18H -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.0 0.0 HitE 103 ook 89 1009.8
2 25.9 0.0 b= 8.4 Fokk 90 1009.3
3 26.0 0.0 b= 8.0 ook 91 1009.3
4 25.9 0.0 it&= 7.2 kK 91 1009.2
5 25.9 0.0 b= 73 Tk 92 10095
6 25.9 0.0 it&= 8.1 ok 92 1009.9
7 26.0 0.0 b= 8.1 Tk 92 1010.7
8 26.2 0.0 b= 8.0 Fokk 90 1011.3
9 26.3 0.0 b= 93 Tk 89 10111
10 26.3 0.0 b= 8.1 Fokk 90 1010.7
11 26.4 0.0 b= 8.6 Fokk 89 1010.2
12 26.6 0.0 b= 8.9 kK 89 1009.8
13 26.5 0.0 b= 8.0 Fokk 90 1009.2
14 26.4 0.0 b= 7.9 kK 91 1008.4
15 26.5 0.0 b= 8.1 Fokk 90 1008.3
16 26.4 0.0 it@= 8.3 Fokk 91 1008.3
17 26.4 0.0 b= 85 Tk 92 1008.9
18 26.3 0.0 it@= 94 kK 92 1008.9
19 26.4 0.0 b= 93 Fokk 90 1009.2
20 26.4 0.0 itm= 9.2 kK 91 1009.5
21 26.4 0.0 b= 9.9 Fokk 91 1009.2
22 26.3 0.0 it &= 9.9 Fokk 91 1008.6
23 26.3 0.0 b= 9.0 Fokk 91 1008.0
24 26.2 0.0 it&= 9.7 Fokk 92 1007.7
H&X 26.6 0.0 10.3 92 1011.3
_ B&m/ 25.9 0.0 7.2 89 1007.7
HEH 26.2 8.6 91 1009.4
HE: 0.0 Fdok
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t#8:20F25% HiZ:136E04%

FR25610A 198 -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.1 0.0 L= 96 Fokk 92 1007.1
2 26.2 0.0 b= 10.2 Fokk 91 1006.8
3 26.1 0.0 b= 10.1 ook 91 1006.5
4 26.1 0.0 it&= 10.9 Fokk 91 1006.2
5 26.3 0.0 b= 111 Fokk 89 1006.5
6 26.3 0.0 b= 10.9 Fokk 88 1006.8
7 26.4 0.0 b= 11.8 Tk 88 1006.8
8 26.6 0.0 b= 12.4 Fokk 86 1007.2
9 265 0.0 b= 115 Tk 87 1007.1
10 26.7 0.0 JtitE 12.0 Tk 86 1006.5
11 26.8 0.0 Jtit= 12.8 Fokk 85 1005.4
12 26.7 0.0 JtitE 12.2 kK 85 1004.7
13 26.8 0.0 b= 12.7 Fokk 84 1004.2
14 26.8 0.0 JtitE 12.8 ok 85 1003.2
15 26.9 0.0 Jtit= 12.9 Tk 85 1002.6
16 26.9 0.0 JtitE 13.4 kK 86 1002.3
17 26.7 0.0 Jtit=E 13.2 *okok 86 1002.3
18 26.8 0.0 JtitEs 14.0 kK 87 1002.4
19 26.7 0.0 Jtit= 13.6 Tk 88 1002.6
20 26.7 0.0 JtitE 13.8 Fokk 88 1002.9
21 26.7 0.0 Jtidt=E 15.2 *okok 87 1002.6
22 26.6 0.0 JtitE 14.8 kK 90 1002.1
23 26.4 0.0 Jtit= 145 Fokk 91 1001.4
24 26.6 0.0 JtitE 13.4 kK 89 1000.3
HE& X 26.9 0.0 15.2 92 1007.2
A&/ 26.1 0.0 96 84 1000.3
EEZ] 26.6 125 88 1004.4
HEE 0.0 ok
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t#8:20F25% HiZ:136E04%

ER25%10A 20H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.7 0.0 Jtit= 13.6 kK 89 9995
2 26.8 0.0 Jbib = 14.1 kK 89 999.2
3 26.7 0.0 Jtit=E 15.8 *okok 92 998.0
4 26.8 0.0 Jbib = 15.7 kK 87 997.4
5 26.9 0.0 Jtit=E 15.7 *okok 88 997.9
6 27.0 0.0 Jbib = 16.0 kK 87 997.7
7 27.0 0.0 JtitE 16.0 *okok 87 997.7
8 27.0 0.0 Jbib = 15.7 kK 88 997.6
9 27.0 0.0 Jtit=E 16.9 *okok 88 997.1
10 271 0.0 [ 3 16.9 kK 88 997.0
11 26.9 0.0 L= 16.9 kK 89 9959
12 27.0 0.0 b= 16.7 kK 88 9943
13 26.9 15 L= 171 kK 90 9935
14 26.6 0.5 b= 19.0 kK 89 9925
15 271 0.0 L= 19.6 kK 90 9923
16 26.4 0.0 Jtdt 211 kK 90 9917
17 26.9 0.0 Jedt 20.3 *kkok 90 991.3
18 26.8 0.5 Jtdt 229 kK 90 990.8
19 25.2 0.5 Jedt 245 kkok 98 990.4
20 25.4 0.5 b= 224 kK 97 9905
21 24.6 3.5 Jedt 24.4 kkok 98 989.8
22 25.4 0.0 Jtdt 224 kK 97 989.0
23 26.6 15 it 20.1 kK 91 988.0
24 26.8 15 it 21.9 kK 89 986.3
HmxX 27.1 35 245 98 999.5
_ B&m/ 246 0.0 13.6 87 986.3
HE 26.6 18.6 90 994.0
HE%: 10.0 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 21H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.4 05 b= 242 ook 91 984.2
2 26.8 0.0 b= 25.2 Fokk 88 982.6
3 25.6 15 b= 25.9 Tk 96 980.9
4 26.5 0.5 Jbib = 28.4 kK 92 979.0
5 25.1 1.0 b= 276 Fokk 97 9776
6 247 7.0 b= 29.1 Fokk 97 975.4
7 25.0 4.0 b= 312 Fokk 97 9736
8 2438 50 b= 33.2 Fokk 96 9716
9 249 9.0 b= 36.9 Fokk 97 967.4
10 245 16.5 b= 40.1 Fokk 98 962.0
11 24.4 925 HitE 447 Tk 98 954.7
12 24.4 235 = 412 ok 97 9452
13 246 20 = 35.5 Tk 98 939.0
14 25.1 1.0 = 26.9 Fokk 97 9365
15 25.2 0.5 E 25.1 Tk 96 935.1
16 25.1 0.5 ek 18.4 kK 96 936.2
17 25.1 15 e 274 Tk 98 9398
18 249 1.0 Ik 349 Tk 98 946.4
19 25.0 0.5 i 35.2 Fokk 95 9538
20 253 0.5 ki 308 kK 97 960.7
21 25.7 0.0 ki 32.9 Fokk 93 966.4
22 26.1 0.5 ki 30.2 Tk 97 969.1
23 245 1.0 S 332 Fokk 98 9721
24 247 45 Ik 35.7 Fokk 98 974.2
HE& X 26.8 925 447 98 984.2
_As/ 24.4 0.0 18.4 88 9351
HEH 25.2 314 96 9618
HEE 1745 ook
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t#8:20F25% HiZ:136E04%

ER25%10A 22H - -
2 g= e ) AE | ARRE | mE SE
e °C mm 16541 m./’s h % hPa
1 247 85 S 31.7 ok 98 9775
2 243 35 Ik 29.1 Tk 98 980.0
3 237 2.0 IR 7 31.7 Fokk 98 982.3
4 246 1.0 Ik 25.4 kK 98 983.6
5 247 15 IR 7 22.7 Fokk 98 985.4
6 245 05 Ik 213 Fokk 96 987.2
7 25.4 15 ] 213 Fokk 94 989.2
8 25.6 1.0 Ik 20.2 Fokk 92 990.1
9 26.0 0.5 IR 7 188 Fokk 90 9919
10 26.4 0.0 Ik 19.2 Tk 87 992.9
11 26.1 0.0 ] 184 Tk 88 9932
12 25.9 0.0 31 155 kK 89 993.2
13 258 0.0 5] 15.9 Tk 90 9938
14 258 0.0 Ik 15.4 Fokk 89 9938
15 25.6 0.0 ] 132 Tk 91 9943
16 25.7 0.0 31 145 kK 90 994.7
17 25.6 0.0 ] 138 Fokk 91 9958
18 25.6 0.0 31 1.6 kK 91 996.8
19 25.6 0.0 ] 10.7 Fokk 91 998.0
20 255 0.0 ek 1.6 kK 92 999.4
21 25.7 0.0 D 130 Fokk 91 999.7
22 247 0.0 ek 13.1 Fokk 93 1000.5
23 25.3 0.0 D 12.4 Tk 94 1000.8
24 25.6 1.0 Sk 135 Tk 92 1000.8
HE&X 26.4 85 31.7 98 1000.8
=R 237 0.0 10.7 87 9775
H¥EH 25.4 181 93 9923
HEE 21.0 ok
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t#8:20F25% HiZ:136E04%

ER25%10A 23H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 25.6 0.0 5] 109 ok 92 1000.2
2 25.6 0.0 31 12.3 Tk 91 1000.0
3 25.4 0.0 IR 7 18 ook 92 999.7
4 25.1 0.0 Ik 10.3 kK 94 9995
5 248 0.0 Lk 8.7 Tk 95 10005
6 25.0 0.0 ElE 9.0 kK 95 1001.4
7 25.2 0.0 EEEd 9.0 Fokk 95 1002.3
8 255 0.0 ik 98 Fokk 93 1002.9
9 25.6 0.0 EED 12 Fokk 91 1003.6
10 26.0 0.0 G 114 Fohk 89 1003.8
11 25.7 0.0 B 105 Fokk 90 1003.8
12 258 0.0 ek 94 ok 89 1003.2
13 26.1 0.0 G 77 Fokk 89 1002.6
14 26.0 0.0 ek 8.1 kK 90 1002.0
15 25.6 0.0 e 70 Fokk 91 1002.3
16 25.6 0.0 Sk 6.9 ok 91 1002.6
17 255 0.0 B 8.9 Fokk 90 1002.4
18 248 0.0 Gl 8.0 Fokk 94 1003.0
19 246 0.0 B 78 Fokk 95 10041
20 246 0.0 Gl 77 Fokk 96 1004.8
21 246 0.0 B 8.2 Fokk 96 1005.0
22 246 0.0 Gl 92 Fokk 96 1005.0
23 246 0.0 B 8.2 Fokk 96 1004.7
24 245 0.0 Gl 8.4 ok 96 1004.4
HzxX 26.1 0.0 12.3 96 1005.0
=E-2) 245 0.0 6.9 89 9995
H¥EH 253 9.2 93 1002.7
HE&%E 0.0 Fdok
EEEEAT—4
o |[EEEHAH] T e |EEERA]  C
%= KR 11365 36.1 REXE TH20217 17.7
o e | R H hPa = e S H hPa
= T Hsfﬁs.flz 10245 RIESE H1$9J.E]2 930.1
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t#8:20F25% HiZ:136E04%

ER25%10A 24H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 245 0.0 B 78 Fokk 96 1003.9
2 245 0.0 G 73 Fokk 97 10035
3 24.4 0.0 R ER 5.7 Fokk 97 1003.6
4 243 0.0 ik 59 kK 97 10035
5 24.4 0.0 5] 5.2 Fokk 97 1003.8
6 245 0.0 53] 5.7 Tk 97 1004.1
7 246 0.0 EEEd 52 Fokk 97 1005.0
8 240 0.0 EEd 6.3 kK 97 1005.3
9 246 0.0 SED 59 Tk 96 1005.6
10 25.0 0.0 EAE 6.3 Fokk 94 1005.1
11 25.1 0.0 B 6.6 Fokk 93 1004.2
12 25.2 0.0 Gl 6.4 Fokk 93 10035
13 247 0.0 Ik 47 Fokk 95 1002.7
14 247 0.0 ek 4.9 Tk 96 1002.3
15 246 0.0 kD 4.1 Fokk 97 1002.3
16 242 0.0 ek 3.7 Fokk 97 1002.3
17 241 0.0 B 46 Fokk 98 1002.6
18 2338 0.0 Gkl 4.0 Fokk 98 1002.6
19 237 0.0 B 48 Fokk 98 1002.9
20 237 0.0 G 59 Fohk 99 1003.8
21 2338 0.0 kD 46 Fokk 99 10041
22 2338 0.0 3] 36 Fokk 99 1003.8
23 239 0.0 5] 33 Fokk 99 10032
24 2338 0.0 31 2.9 Fokk 99 1003.2
HmxX 25.2 0.0 78 99 1005.6
_ B&m/ 237 0.0 2.9 93 1002.3
H¥EH 243 5.2 97 1003.6
HEE 0.0 Fdok
EEEEAT—4
o |EEEHAH] T e |EEERA]  C
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o e | R H hPa = e S H hPa
= AT Hsfﬁs.flz 10245 RIESE H1$9J.E]2 930.1
= =|EREHA] mm/da = <« [EREBAH| m/ s
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t#8:20F25% HiZ:136E04%

ER25%10A 25H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 241 0.0 5] 30 Fokk 99 1002.6
2 241 0.0 ElE 38 ok 99 1002.1
3 243 0.0 5] 33 Tk 99 1002.0
4 242 0.0 531 32 Fokk 99 1002.0
5 239 0.5 5] 35 Fokk 99 1002.4
6 242 0.0 53] 42 ok 99 1002.9
7 246 0.0 5] 49 Fokk 98 10035
8 25.1 0.0 Ik 50 kK 96 1003.9
9 255 0.0 IR 7 54 Fokk 90 10041
10 26.0 0.0 oIk 50 Fokk 88 1004.1
11 26.1 0.0 ] 54 Fokk 88 10035
12 26.1 0.0 Ik 59 Tk 88 1002.9
13 26.2 0.0 ] 6.6 Fokk 89 1002.3
14 26.7 0.0 et 6.6 Tk 87 1002.1
15 26.8 0.0 ki 6.4 Fokk 86 1002.0
16 26.5 0.0 ki 5.7 Fohk 88 1002.1
17 26.1 0.0 w7 52 Fokk 91 1002.6
18 25.6 0.0 ki 56 Tk 93 1003.0
19 25.4 0.0 ki 56 Fokk 95 1003.8
20 25.4 0.0 ki 55 Fokk 94 1004.5
21 255 0.0 ki 5.7 Fokk 95 1004.8
22 25.4 0.0 ki 6.3 ok 94 1005.0
23 25.1 0.0 ki 55 Fokk 95 1005.3
24 25.2 0.0 ki 438 Fokk 93 1005.1
H:xX 26.8 0.5 6.6 99 1005.3
_ B&m/ 239 0.0 3.0 86 1002.0
H¥EH 25.3 51 93 1003.3
HE&E 05 Fdok
EEEEAT—4
o |EEEHAH] T e |EEERA]  C
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t#8:20F25% HiZ:136E04%

ER25%10A 26 H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 25.1 0.0 ki 38 Fokk 95 1005.0
2 25.0 0.0 ki 438 Fokk 94 1005.1
3 249 0.0 e 35 Tk 95 1005.0
4 249 0.0 ki 2.9 kK 96 1005.0
5 249 0.0 S 22 Fokk 97 1005.6
6 243 0.0 et 18 kK 96 1006.2
7 25.4 0.0 ki 26 Tk 87 1006.9
8 25.4 0.0 & 18 Tk 87 1007.4
9 26.2 0.0 S 10 Fokk 84 1008.1
10 274 0.0 53] 13 Tk 82 1008.0
11 28.0 0.0 ] 2.1 Tk 82 1007.7
12 275 0.0 oIk 3.1 Fokk 83 1007.5
13 282 0.0 i) 17 Tk 82 1007.1
14 29.0 0.0 75 10 kK 81 1006.9
15 30.0 0.0 P[Aic 18 Fokk 73 1006.9
16 26.9 0.0 Jtdt 3.7 ok 86 1007.4
17 26.7 0.0 Jedt 47 *kkok 83 1007.8
18 258 0.0 it 3.7 Fokk 87 1008.6
19 25.7 0.0 it 39 Fokk 89 1009.2
20 253 0.0 it 4.1 kK 90 1009.8
21 25.3 0.0 Jedt 40 kkok 91 1010.1
22 25.1 0.0 Jtit 3.7 ok 93 1010.4
23 249 0.0 Jtit 44 Fokk 92 1010.1
24 2438 0.0 it 3.7 ok 93 1009.8
H&X 30.0 0.0 438 97 1010.4
_ B&m/ 243 0.0 10 73 1005.0
HE 26.1 30 88 1007.6
HEE 0.0 Fdok
EEEEAT—4
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= T Hsfﬁs.flz 10245 RIESE H1$9J.E]2 930.1
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t#8:20F25% HiZ:136E04%

ER25%10A 27H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 247 0.0 Jtit7E 30 kK 93 1009.5
2 24.4 0.0 B[ 38 ok 95 1009.3
3 24 4 0.0 || i’ 45 kokok 95 1009.2
4 245 0.0 it 5.0 Fokk 93 1008.9
5 24.4 0.0 it 4.9 Fokk 94 1009.3
6 245 0.0 it 5.1 ok 94 1009.9
7 247 0.0 Jtit= 6.0 Fokk 93 1010.4
8 253 0.0 it 4.6 kK 90 1011.0
9 25.6 0.0 it 45 Fokk 89 1011.6
10 25.2 0.0 it 5.8 Fokk 93 1011.9
11 25.2 0.0 Jtit 53 Fokk 91 1011.4
12 253 0.0 Jtdt 4.7 Tk 92 1010.7
13 25.0 0.0 Jedt 8.7 *kkok 90 1010.1
14 25.1 0.0 it&= 76 Tk 89 1009.9
15 253 0.0 b= 8.2 Fokk 88 1009.8
16 25.0 0.0 it&= 7.9 Fohk 88 1010.4
17 25.0 0.0 b= 76 Fokk 88 1010.7
18 25.1 0.0 b= 7.9 Tk 89 1011.0
19 25.0 0.0 it 8.7 Fokk 90 1011.7
20 255 0.0 it 8.7 Fokk 88 1012.3
21 25.7 0.0 it 9.2 Fokk 88 1012.2
22 258 0.0 it 8.9 ok 87 10125
23 25.7 0.0 JtE® 8.5 Kk 89 1012.5
24 258 0.0 mit® 8.9 Fokk 88 1012.2
H&X 25.8 0.0 9.2 95 10125
_ B&m/ 24.4 0.0 3.0 87 1008.9
EEZD] 25.1 6.6 91 1010.8
HE&E 0.0 Fdok
EEEEAT—4
o |EEEHAH] T e |EEERA]  C
%= XR 11365 36.1 REXE TH20217 17.7
o e | R H hPa = e S H hPa
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t#8:20F25% HiZ:136E04%

ER25%10A 28H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 25.9 0.0 HitE 6.6 Fokk 86 1011.9
2 258 0.0 mit® 6.7 ok 85 1011.6
3 255 0.0 HitE 75 Tk 89 1011.4
4 25.4 0.0 b= 8.6 kK 91 1011.1
5 25.6 0.0 b= 72 Fokk 91 1011.3
6 25.7 0.0 mit® 71 Tk 90 1011.6
7 26.4 0.0 HitE 7.9 Fokk 85 1011.9
8 26.9 0.0 mit® 9.0 Fokk 83 1012.8
9 276 0.0 HitE 93 Fokk 78 1013.1
10 28.0 0.0 Hit® 8.9 Fokk 78 1012.8
11 28.1 0.0 HitE 96 Fokk 78 1012.3
12 26.9 0.0 Hit® 9.7 Fokk 82 1011.3
13 27.2 0.0 JtE® 9.6 Kk 81 1010.7
14 276 0.0 mit® 105 Fokk 81 1010.1
15 26.3 1.0 b= 8.6 Fokk 86 1010.1
16 26.9 0.0 mit® 98 Tk 82 1010.7
17 2338 35 30 Fokk 96 1011.3
18 258 0.0 mit® 8.3 Fohk 90 1011.0
19 26.0 0.0 HitE 96 Fokk 90 1011.3
20 26.3 0.0 b= 8.9 ok 88 1011.6
21 26.3 0.0 HitE 85 Fokk 89 1011.6
22 26.4 0.0 Hit® 98 Fokk 89 1011.6
23 25.1 2.0 HitE 55 Fokk 95 1011.0
24 25.9 0.0 Hit® 58 Fokk 90 1010.7
H&X 28.1 3.5 10.5 96 1013.1
_ B&m/ 2338 0.0 3.0 78 1010.1
HE 26.3 8.2 86 10115
HE: 6.5 Fdok
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t#8:20F25% HiZ:136E04%

ER25%10A 29H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 25.9 0.0 HitE 6.6 Fokk 90 1010.2
2 26.1 0.0 mit® 71 ok 91 1010.1
3 26.3 0.0 HitE 8.1 kK 90 1009.6
4 26.1 0.0 Hit® 98 Fokk 90 1009.3
5 26.3 0.0 HitE 9.9 Fokk 88 1009.5
6 26.4 0.0 mit® 10.1 Fokk 89 1009.8
7 26.5 0.0 HitE 10.6 Fokk 89 1009.8
8 26.9 0.0 mit® 10.8 kK 88 1010.4
9 273 0.0 HitE 12.2 Tk 87 1010.8
10 2738 0.0 Hit® 1.7 Fohk 83 1010.4
11 28.0 0.0 HitE 10.7 Fokk 83 1009.9
12 276 0.0 mit® 11.0 Fokk 84 1009.5
13 275 0.0 HitE 96 Tk 87 1008.6
14 273 0.0 S 10.6 Tk 84 1008.1
15 26.6 0.0 = 9.7 Fokk 91 1008.1
16 26.3 0.5 - 10.1 Fokk 93 1008.3
17 26.1 0.5 = 13.4 Fokk 90 1008.7
18 26.4 0.0 = 10.9 ok 90 1009.5
19 26.6 0.0 E 99 Fokk 90 1010.1
20 26.7 0.0 = 8.6 kK 92 1010.7
21 26.5 0.0 = 78 Fokk 92 1010.7
22 26.6 0.0 = 78 ok 93 1010.7
23 26.5 0.0 E 74 Fokk 94 1010.7
24 26.5 0.0 EXE 6.4 Tk 94 10105
H&X 28.0 0.5 13.4 94 1010.8
_ B&m/ 25.9 0.0 6.4 83 1008.1
H¥EH 26.7 96 89 1009.8
HE: 1.0 ok
EEEEAT—4
N - - H °C o e m | RS H °C
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o e | R H hPa = e S H hPa
= T Hsfﬁs.flz 10245 RIESE H1$9J.E]2 930.1
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t#8:20F25% HiZ:136E04%

ER25%10A 30H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.5 0.0 RER 6.0 Fokk 94 1010.4
2 26.6 0.0 EXE 6.2 ok 91 1009.8
3 26.4 0.0 = 47 kK 92 1009.8
4 26.3 0.0 = 438 Fokk 94 1009.8
5 26.2 0.0 = 49 Fokk 95 1010.2
6 26.3 0.0 = 4.7 ok 96 1011.0
7 26.6 0.0 = 43 Fokk 93 1011.3
8 271 0.0 = 4.1 kK 90 1012.3
9 2738 0.0 = 39 Fokk 88 1012.8
10 283 0.0 = 39 Fokk 86 1012.8
11 28.1 0.0 RER 5.1 Fokk 87 1011.9
12 283 0.0 EXE 42 Tk 86 1011.4
13 28.4 0.0 = 49 Fokk 84 1011.1
14 288 0.0 = 3.7 Tk 84 1011.3
15 287 0.0 E 40 Fokk 84 1011.0
16 29.0 0.0 = 38 Fohk 84 1011.3
17 279 0.0 = 438 Fokk 87 1011.7
18 271 0.0 S 42 Tk 92 1012.2
19 26.8 0.0 = 55 Fokk 92 1012.9
20 26.8 0.0 = 5.4 Fokk 91 10135
21 26.8 0.0 = 53 Fokk 92 1013.7
22 26.7 0.0 E 59 ok 92 1013.7
23 26.6 0.0 = 56 Fokk 94 1013.7
24 26.5 0.0 EXE 4.9 Fokk 95 1013.7
H:xX 29.0 0.0 6.2 96 1013.7
_ B&m/ 26.2 0.0 3.7 84 1009.8
H¥EH 273 4.8 90 1011.8
HE&E 0.0 Fdok
EEEEAT—4
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o e | R H hPa = e S H hPa
= AT Hsfﬁs.flz 10245 RIESE H1$9J.E]2 930.1
= =|EREHA] mm/da = <« [EREBAH| m/ s
BRBME 01805 2505 5 FRAEE [Ti700 55.2

AT—2AIE. S63.9.25~H24.12.31 DHIRE I RIZLTLVET,




M/ BEGT/MNOT)[RBAT—42

t#8:20F25% HiZ:136E04%

ER25%10A 31H - -
2 g= e ) AE | ARRE | mE SF
e °C mm 16541 m./’s h % hPa
1 26.5 0.0 RER 53 Fokk 94 1013.4
2 26.5 0.0 EXE 438 ok 94 1013.1
3 26.4 0.0 HEE 59 Tk 94 1012.8
4 26.5 0.0 EXE 6.4 Fokk 93 1012.8
5 26.5 0.0 R E 6.1 Fokk 92 1013.1
6 26.5 0.0 = 6.0 ok 90 1013.7
7 26.9 0.0 = 6.1 Fokk 88 1014.3
8 273 0.0 = 6.6 kK 85 1014.6
9 276 0.0 = 55 Fokk 83 1015.0
10 282 0.0 = 53 Fokk 82 1014.6
11 288 0.0 = 53 Fokk 79 1014.3
12 29.0 0.0 = 58 Tk 79 1013.4
13 289 0.0 = 59 Fokk 78 1012.8
14 29.4 0.0 = 53 Tk 78 10125
15 293 0.0 = 53 Fokk 76 10125
16 285 0.0 6.4 Fohk 78 10125
17 2738 0.0 b= 6.1 Fokk 83 1012.8
18 271 0.0 it 5.6 Tk 88 1013.1
19 27.0 0.0 HitE 6.4 Fokk 88 1013.8
20 26.9 0.0 mit® 59 Fokk 90 1014.4
21 26.9 0.0 it 55 Fokk 90 1014.9
22 26.8 0.0 it 54 ok 91 1014.9
23 26.7 0.0 it 6.3 Fokk 91 1014.7
24 26.7 0.0 it 6.2 Fokk 90 1014.3
H:xX 29.4 0.0 6.6 94 1015.0
_ B&m/ 26.4 0.0 48 76 10125
H¥EH 274 58 86 1013.7
HE&E 0.0 Fdok
EEEEAT—4
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